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33 A. Rs5000
B Rs 6000

= 51000 C. Rs 6500
~360, D. Rs7200
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Q2- A sum of R§ 15000/s lent at 16% p.3d. compound interest. What is the

difference between compound interest for second year and-the-third year.

15000 %- 1 TRT 16% AT wshdfg oo 7 3w & STt 21 g6 a9 3 e av

& fou Tsrafs samer & offe &1 sia =T 2
A. Rs544
B. Rs 548
C. Rs44588
LB Rs 445.44

E. None of these
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Q3- What 1s the approximate compound interest on a sum ¢f Rs 10,000]at

5
14% per annum fo@ears when interest compounded annually.

3- 10000 - <hi fordlt afsr ww 14%arfies @ 2 - aﬁ%%qamﬁaam
TS fohdAT 8, 59 wldmwﬁmﬁﬁ’

A. Rs 4259
B~ Rs 4296

C. Rs 4439

D. Rs 4394

E. None of these
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Q4- Find the compond interest on a sum of Rs 8000 for consecutive three

years when rate of interest i@; an@respectively.

Q4- 8000 &9 T T3 I AR i< 991 o foT¢ skl a1t J1a HIfST, S o1

I TTHAIT: 10%, 20% 3T 25% 2
© P a
]
‘OZ‘ I (¢ |
00 5 ¢
> 9 5
Vo= 0 200 33q

20o=7 Qoo o
|~ < Ho
30= Hox130

=X Noo

Rs 12000
Rs 12200

Rs 13200
. Rs 14200
\_F— None of these

o0
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Q5- Find the compound interest on a sum of Rs 15,000 at 10% per annum for 2

years and 73 days.
15000 - ht TR 9T 10% Sfdas =l & @ 2 a9 73 fa7 & foi =shafg s I

shifse) il
}Zr;_f% ‘QSW
x5 5"

Rs 3183
Rs 4033
REPRRR
. Rs 2033
¥ None of these

o0 W
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Q 6- A of Rs 12,000 sum 1s invested in a bank. Find the compound interest

received a a@% pemhen interest compounded half

yearly.

6- 12000 %- =t T 1 & Tk siah | farr frar srar 81 1.5 aﬁ%@uﬁra&
&l 3" T Tshdfeg SISl J1d hfSIT STel STl A4 €9 § FIISd B0l

A. Rs 3032
B. Rs 4432
C. Rs 3972
D. Rs 3322

\/E./—mee of these
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Q 7- A certain amount of money is lent out at compound interest at the rate of
LZO% per annum for two y compounded annually. It would give Rs-8649H

— e

more 1f the amountis compounded half yearly. Find the pn.n-eq-ple’()ymumﬂ

7. ua fAfea afsr &1 a1 awt & forw 20% arfie askhafs sars it 3 8 3ur far sman

2, ] a1t &9 ¥ GAifSd Bidt 21 afe ufdn i srdanfis & 4 gaifsd fear srar g ai

I8 &4 TqA 3Tk < B w1 var @)
ettt

A. Rs 3600

11 J,\g: Qt}(“ QY Mmonthy B. Rs 4400
C. Rs 4800

hgd{&g.: 9) 'mmf\)@ D. Rs 4000

E—~ None of these
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Q 8- . Mr. X wins Rs. 120000. He has to pay 25% as gift tax to the government.
He places remaining money 1n fixed deposit (@ 10% compounded annually.

However, he has to pay 20% tax on the interest. How much money X has paid

after 2 years excluding gift tax.

T 8- . T X 120000 ¥ Sfradr 81 38 TR i e 290 & &9 7 25% &
AT AT 81T 98 9 97 i e feuifse @ 10% e asrafe o w@ar 2l
BTcAifeh, 38 SATST YT 20% ST 2T BT 3TBR L ol BIgaH X 7 2 I91 o o018 fehaan

94T T o 22 ﬁ"mi A.

mo 0w

Rs 748.8
Rs 744 4
Rs 644 .4
Rs 544 4

None of these



IBPS RRB PO/CLERK 2024(MOST EXPECTED QUESTIONS)



IBPS RRB PO/CLERK 2024(MOST EXPECTED QUESTIONS)

Q9- A certain sum of money becomes 4 times of itself at a certain rate of
compound interest in 6 years. In how much time with same rate of interest it

becomes 64 times of itself.
e ffaa gaafyn 6 awf 4 =srafs s i v ffia @ e i 4 7 2 ot 2
AU 4TS X W ford @9 4 I8 T T 64 AT &1 ST 27

A. 12 years
B. 18 years
C. 24 years
D. 30 years
E

None of these
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